AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable FEDERA	oox) AL CANDIDAT	T.	✓ STATE	/LOCAL CAN	DIDATE
of the players.	i Themasland Hofwel dan	of The Lore History	est kintt fiber h Sign Tres G	grāvings Hilistias R	Magazina Si
Station and WGFT-AM/Star	Location: · 94.7 Youngstow	n, OH		Date: 10/12/16	5
I. Jim Fogarty			,		
being/on behalf of	of: Polivka for Tru	ımbull Co Comr	nissioner		, a legally
	te of the Democr			1	political
	ce of: County Co				
in the General I	Election				
election to be he	eld on: November	8, 2016			
	st station time as f				•
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
M-F 6-10a 1 s	oot a day for 2 we	eks (Oct 17th - 2	28th) 10 spots X :	\$16 = \$160	
Saturdays 6-10	am 2 spots a day	for 2 weeks (Oc	t 15th & 29th) 4	spots X \$10 = \$40	
Sundays 6-10a Sundays 10-3p	um 2 spots a day fo om 1spot a day for	or 4 weeks (Oct. 4 weekss (Oct.	16th, 23rd, 30th, 16th, 23rd, 30th	, Nov 6th) 8 spots 2 , Nov 6th) 4 spots	X \$10 = \$80 X \$10 = \$40
Saturday even	ings (7-12m) 2 sp	ots first 2 weeks	(Oct 22nd and 2	9th) and 1 spot on	Nov 5th. 5 spots x
\$350 Gross To	otal / \$297.50 net.			,	1
Total Char	ges: \$350 gross				

DANIEL E. POLIVKA ELECTION COMMITTEE						
and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.						
The name of the treasurer of the candidate's authorized committee is:						
This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).						
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.						
To Be Signed By Candidate or Authorized Committee						
10/12/16 James 100 July						
Date Signature						
Date Signature To Be Signed By Station Representative						
Date Signature						

6			Sta	ar 94.7 BR	OAI	CA	ST (ORD	ER	FOF	RM			
STAR 94.7/WGFT 20 Federal Plaza West, #M-18 Youngstown, OH 44503					DATE: Contract #: Estimate #: Product:						-	Political		10/13/2016
New Order: In Addition To Supercedes:	-	X					Spe Inst	cial ruct	ions	s:	-	Calendar	Billing	
Sales Rep: Advertiser: Agency: Address:	-	Polivka for 2 Tics & The 197 W. Mai	Dog Prorket St. #2	ductions	ssior	ner) () ()			
Phone: Contact:	START	Warren, Ol- 330/720-75 Jim Fogarty	60	END	- - - TSPE	CIFI	C D	AYS				# OF		
LENGTH	DATE	END DATE	TIME	TIME	M 1	T		TH 1	F 1	S	SU	SPOTS 10	\$16.00	SUB TOTAL \$'s \$160.00
	10/17/16 10/15/16			10am 10am		1.	<u>+</u>	1	<u>.</u>	2		2		
30	10/29/16	NS 50		10am						2		2		
	10/16/16			10am 3pm							1		100	
		10/29/16		12mid						2		4	\$6.00	\$24.00
30	11/05/16	11/05/16	7pm	12mid						1		1	\$6.00	\$6.00

	Total:	\$350.00
Less Agency		\$52.50
,		\$297.50

Confirmation



Y-Town Radio Broadcasting, LLC Star 94.7/ WGFT-AM 20 Federal Plaza West # M-18 Youngstown, Ohio 44503

Please Make Payment To: Y-Town Radio Broadcasting, LLC 3378 Caterina Drive New Smyma Beach, FL 32168-5389

Order# Date Entered Billing Cycle Conflict 1 Date Range CoOp

871 10/13/2016 Sales Person House Account Calendar Political 10/15/2016 - 11/06/2016

No

POLIVKA FOR TRUMBULL CO COMM C/O 2 TICKS AND THE DOG PRODUCTION 197 W MARKET STREET SUITE 201 WARREN OH 44481

0	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
Station		06:00:00-10:00:00	00:30	1,1,1,1,0,0	All Weeks	16.00	10	160.00
WGFT-AM	10/17/2016-10/28/2016		00:30		All Weeks	10.00	2	20.00
WGFT-AM	10/15/2016-10/15/2016	06:00:00-10:00:00			All Weeks	10.00	2	20,00
WGFT-AM	10/29/2016-10/29/2016	06:00:00-10:00:00	00:30			10.00	8	80.00
WGFT-AM	10/16/2016-11/06/2016	06:00:00-10:00:00	00:30	0,0,0,0,0,0,2	All Weeks		1-0	
WGFT-AM	10/16/2016-11/06/2016	10:00:00-15:00:00	00:30	0,0,0,0,0,0,1	All Weeks	10.00	4	40.00
			00:30	0,0,0,0,2,0,0	All Weeks	6.00	4	24.00
6 WGFT-AM	10/21/2016-10/29/2016			0,0,0,0,0,1,0	All Weeks	6.00	1	6.00
7 WGFT-AM	11/05/2016-11/05/2016	19:00:00-23:59:00	00.50	0,0,0,0,0,1,0	Subtotal			350.00
					Agency Commi	ssion		52,50
					Total			297.50

		Count	Gross	Total
Projected Billing	2016	27	314.00	266.90
Öctober	2016	4	36.00	30.60
November		31	350.00	297.50

Customer	Sales Person
Justoffier	· · · · · · · · · · · · · · · · · · ·